[@BYJUs
AR e 9IS oI, 30T
Aiedl U U9 S Hredfdd UNIelr 2022
fwg— o EmeTe
PeIT—12
TI: 2 "9 45 e guiie:80

e & forw am= e —
GENERAL INSTRUCTION TO THE EXAMINEES:
1. el dueE 19 Uv YA X ATE{B IAfardd: fored |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge o @rfvard 7|

All the questions are compulasory.

3. UUd U BT SR a1 T3 IR RIS H 8 ford |
Write the answer to each question in the given answer book only.
4. 59 9ol # R WvS & S 99 & IR YD AT & ford |
For questions having more than one part the answers to those parts are to be

written together in continuity.
5. U UF & R R RISl SurmRer # fll geR @ Fe/ R/ fREm e B w2
YT & Y9 Bl Tl q1 |

If there is any error/difference/contradiction in Hindi & English version of the
question paper, the question of the Hindi version should be treated valid.

gus — (3)
SCETION-(A)
1. 9gfdeedl ueT —
Multiple Choice Question —
(i) SMEF—TT G B GG g — (1)
(a1) afdeTd rar (&) TR @
() o i+ T (2) 379 A BIg &I
Nature of Income & Expenditure A/c is :-
(A) Personal A/c (B) Real A/c

(C) P&LA/c (D) None of these above
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(ii)

(iii)

(iv)

(v)

(vi)

(vii)

AEERI [0 & ME H Ugg IR R &9 a1 Sikr § — (1)
(31) 10 ufcrerd aTfie (@) 6 wfaera ami®

() 12 wfaerd T (@) 8 ufcrerd arfi®

In absence of Partership Deed Interest on loan is charged :-

(A) 10% Annual (B) 6% Annual

(C) 12% Annual (D) 8% Annual

Bl A AEER & Y9 W, URAHREAT § g5 Hod @I gig @I AW fhar Sem — (1)

(@) < T B FHEoE @rd H (@) uRewafy @ #

() TR R B o @ (@) s A B A

On the admission of a new parter increase in the value of Assets is debited to :-

(A) Profit and Loss Adjustment A/c (B) Assets A/c

(C) Old parter's capital A/c (D) None of the above

3fert BT BT fhaT ST AT § — (1)

(31) T AR BT YT AT IR W (@) w1 H SuRera 9 8 @ Reaf #

() 9 ST H A b AT H (]) SWRIad T

Shares can be forfeited :-

(A) For non payment of call money (B) For failure to attend meetings

(C) For failure to re-pay the loan to the Bank (D) All above
I OO ST YT §RT SRT B1d & = $ed 3 — (1)
(31) Uil RIS (@) w2 ForgH

() arEd ForuA (G) AR FoTax

Debentures which are transferable by mere delivery are :-

(A) Registered Debentures (B) First Debentures

(C) Bearer Debentures (D) Redeemable Debentures

IR FOAT BT dec W a8l fdar o1 |\adr g, e — (1)

(a7) I8 Tl 1 URafcld HRAT 8

(§) S TebTdd & uRafd Fal fhar S &

() SWRIaT ST

(]) SRIFT # A BIg 721

Convertible Debentures can not be issued at a Discount if :-
(A) They are to be immediately converted.

(B) They are not to be immediately converted.

(C) Both of above.

(D) Nono of the above.

AT DI WRIG b FHI B Yfahel R ael aRTAfAl &1 AT Jed Hal Cr.

forar SITaT & — (1)
(1) A= JTRIErT (@) Yoir 3Rferd
() faar &1 @rar (]) TIfar @

Exess value of net Assets over purchase consideration at the time of purchase of business is
credited to :-
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(A) General Reserve (B) Capital Reserve
(C) Vendor's A/c (D) Goodwill A/c
(vii) ¥ B FRUYA d FUUF § Sl HEAT — (1)

(37) e & ydaedt BT edfed wRa § |

(4) STT Frwret @1 arfed wRel |

() 9OTR ¥ WRIEd! & &R 99 @ ©U #§ 319+ U I § |

() fashar @1 Ha 9fdhd & w9 H <A B

Own Debentures are those Debentures of the company which :-

(A) The company allots to its own promoters.

(B) The company allots to its directors.

(C) The company purchases from the market and keeps them as investments.
(D) The company gives to vendor as purchase consideration.

(ix) TP AG e & ®U H afida Bl Il & — (1)
(@) Ife 98 THE & AT YA d% H Wi 2|
@) Jpe qAT A JAH T |
() S9 12 A9 & Wik g / e fdar SR |
(3) SR 4T |

An item is classify as current :-

(A) If it is involved in entity's operating cycle.
(B) Is cash and cash Equivalent

(C) To be realised/settled within 12 months.
(D) All of above.

x) Udb AGae Sedq & faxig faavor & afafera eid 2 — (1)
(&1) gorT u= (@) o g =If faRor
(A) JIPpe garg fqavor (@) SWRiad T
The financial statements of a business enterprise include :-
(A) Balance sheet (B) statement of profit and loss
(C) Cash flow statement (D) All of above
(xi) JATTHD fIaRol B a8 Hf FEd T — (1)
(31) fepameiier fageryor (@) &fcrst faweryor
(%) e faerser (2) arga fazeyor
Comparative statements are also known as -
(A) Dynamic analysis (B) Horizontal analysis
(C) Vertical analysis (D) External analysis
(xii) AT B QT IMERYT AT & — (1)

(37) EferaT a1ad 3fR =mef Ut
(d) =re] SUN SR FadT AU
() TPt A AT 3R Y=Tel 3urd

(2) =me], AU 3MR 3T FUEVT fafey

The two basic measures of liquidity are :-
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(A) Inventory turnover and current ratio

(B) current ratio and liquid ratio
(C) Gross profit margin and operating ratio
(D) Current ratio and average collection period

2. Raa = —
Fill in the blanks —
(i) TSR BT ITRAT ATSERT B A e & RV ey T g1 (1)
Partnership comes into existence as a result of ..........ccceeveennnen. among the partners.
(ii) 32T BROT WA BT AT AT TF H o % A qenAr S g1 (1)
Balance of share forfeiture A/c is shown in the Balance sheet under .......cocccoovvevvvverennneee.
(iii) oA H AT S 9Tl AT B D AT D U BT & 3R
I e wu & gHrm e 2 (1)
Interest on Debentures is @ ......coceeevvcivveeennns against the profit of the company and must be paid.
(iv) TIfied Ui & oretmar &1g sifarRaa ufengfa PHEAH T | (1)
Any security in addition to primary security is called .........ccccveevviieeeennnnenn.
(v) fa=ira fdaRor AR & SR TR IR fhd S 2 | (1)
Financial statements are prepared on the basis of ...........cccccvverrnnnnen. cost
(vi) b STAATRID BH Bl oo DI TUMT ID! THDBICA SIS D YA Dbl &qdT A
B I B | (1)
ThE e of business firm is measured by its ability to satify its shortterm obligations.

3. 3 éaqaq HD U (Very short answers type questions.)
(i) goit fafer o 8 2 (1)

What is meant of Capital Find ?

(i) P 3R Q WERER T| ST A P9 T 2 : 1 81 I R BT ARER § 1/5 9°T &
fog T 7 B ORI R PR Q 9 1 : 2 & Irurd # SIfRUBY &val 71 Y o fwre
3TUTd BT TOET &N | (1)

P and Q are parter sharing profits in 2:1 ratio. They admitted R into partnership giving him 1/5 share

which he acquired from P and Q in 1:2 ratio: Calculate new profit sharing ratio.

(iii) Goft SMRfET @ 287 (1)
What is capital Reserve?
(iv) Mg FE0TOH | a7 dredd 77 (1)

What is meant by ir-redeemable Debentures ?
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(v) T & FROTIHl B IGEIHIVT W AW b @ # gwaraRd fear srar 82 (1)
Profit on cancellation of own Debentures is transferred to which account?

(vi) X Itd. =T 288000 % Hed &I TRITARRT WRIET | S99 100 % YD & FRUIH 4 Flawd 9
W P UhA & wY H YOI qIaE g MR B | f[sar B SR R TR SFoTaEl @
T ST BT | (1)

X Itd. purchased Assets worth Rs. 288000. It issued Debentures of Rs. 100 each at discount of 4% in
full satisfaction of the purchase consideration.
(vii) 300000 & & 8 TfIAd FUUAl TR & & <F BF B o+el gfdfte By | (1)
Give journal entry of interest due on 8% Debentures of Rs 300000.

(viii) “Tel TR ¥ HI" RT FGH & A9 I T A9y 57

What is meant by redemption of Debentures by "Purchase in open market"?

(ix) @ B faavor @ R fdhar Srar 272 (1)
Why does statement of profit and loss is prepared?

(x) o< eripel & orvead @R &faot fagewo & 99 R forlay | (1)
Distinguish between vertical and horizontal analysis of financial data.

(xi) FFRRY faaRer ¥ a1 aread 87 (1)

What is meant by Common size statements?
(xii) U PHFAT & =Te] AT 560000 ®. & | ATe] AU 2.5:1 AR TRel AT 2:1 8 | IKlh Bl
I 1 BRI | (1)
Current liabilities of a company are Rs. 560000. Current ratio is 2.5:1 and Quick ratio is 2:1 find the

value of inventories.
gvg — (9)
SCETION-(B)

T TRTHD U (Short answers type questions.)
(4) AP T AT AT B HT H SR WL P | @)

Distinguish between profit and no per profit organisation.

(5) S 3MSTEH AT <X Ud ¢del H¥-Il’ H HISIGR & AT ofdl 9y & 3id 31 ATd, 2015 Bl
Sl TaRT 2g oAl GOl W § 9 @l 3MERd &xd & | 1 dafors Rafaail wR &t
BT IRBe B, Al o1 BT &3 9 Uferd ufay @t g—

(@1) afe a8 ufcHE & UR™T § 2000 /— . BRI BT T |
(@) I U® A8 & AT H 98 2000/ — . 3MERT BT 7 | 2)
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John Ibraham, a partner in Modern Tours and Travels withdraw money during the year ending march

31, 2015 from his capital account, for his personal use. Calculate interest in drawings in each of the
following alternative situations, if rate of interest is 9 percent per annum-

(a) If he withdrew Rs. 2000/- per month at the beginning of the month.

(b) if an amount of Rs. 2000/- per month was withdrawn by him at the end of each month.

(6) T {B ANl B IR AR 7 50000 /— A AT 31 {HAT | @AY & Hed HI TOMT
goll roT fafdr gy o | afs =rearg &1 aRF=fa™r 500000 /— 3R 9@ ST 90000 / —
®. B | AT Ufed ©) 10 gfaerd B | 2)

A business has earned average profits of Rs. 50000/- during the last few years Find out the value of
goodwill by capitalisation method given that the assets of the business are Rs. 500000/- and its
external liabilities are Rs. 90000/- The normal rate of return is 10%

(7) el IR AT BH H WIEIAR 2 SR o™ 9 W &1 e 5:3 U H dRall 7 | e
2017 BT 9 AH BT BH H YA <l 2 | AH P FdY [y R A iR AAT & g o H
AT 99 8000/ — %. AR ™Y T BN WTAT 12000 /— (STAT) %. T BT AT| 31H &
Jael IR SWRIGT Hal & FdeR zq gD Jordar yfafteds | oer, 491 &R o &

e AT A 9IS JIUTa 5:3:2 B | (2)

Leela and Meena were partners in a firm sharing profits and losses in the ratio of 5:3. In April 2017
they admitted om as a new partner. On the date of Om's admission the balance of Rs. 8000/- in
general reserve and Rs. 12000/~ (Cr.) in Profit and Loss Account. Record necessary journal entries for
the treatment of these items on Om's admission. The new profit sharing ratio among Leela, Meena
and Om was 5:3:2.

(8) 1 AT & qT YT B? ISTERYT AfRd AR | )
What is meant by Calls in Advance? Explain with an example.

(9) st =dl welA farfics 9 gIveT ¢S | 380000/ — oA &1 A &1 %d fHaT| 50000 /—
BT AbS A AT A7 AR AY AR & oY 100 /— IS & ;T BT 110 /— 9 g™
R AT 17| SWa FdERl B ISTAHe graftedr o | 2)

Bansal Heavy Machine Itd. purchased machine worth 380000/- from handa Trader. Payment was

made as 50000/- cash and remaining amount by issue of equity shares of the face value of 100/- each
fully paid at an issue price of 110/- each.

Give journal entries to record the above transation.

(10) g1, foT9 URT 10 . IS & 500 3T & IAT AMdeA R 4 & URT 39 2 5 e
AfRA) 3R 3 %, @ Y iR 3ifaw AR IR &1 e 72 far | S9a ofwi @ yerd ek

JIfH AT & 1€ BT B fordT AT | 37 BT BT B BT IoHTHaT Ufafee o |
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Sunena, a Share holder holding 500 shares of Rs. 10 each. did not pay the allotment money of Rs 4

per share (including a premium of Rs. 2) and the first and final call of Rs. 3. Her shares were forfeited
after the first and final call. Give journal entry for forfeiture of the shares.

(11) R fofice = 200 . TP dTel 2000000, 10 UfTerd 095 7 U e & A fRifaa
T St o Iut @ qrg 8 Uferd WA & A1 A O | IR fafics @ @rar geel |
AR wfaftedt ¢ | 2)

R. Itd. offered 2000000, 10% Debentures of Rs. 200 each at a discount of 7% redeemable at premium

of 8% after 9 years. Record necessary journal entries in the books of R. Itd.

(12) ST 01, 2020 BT AR fIfAcS & U9 6. 500000 /— & 9 WA OUF & | T FOTIAT
BT 2Me <7 Ay ox g | o gfafkedt | (2)
Madhur Itd. has outstanding 9% Debentures of Rs. 500000/- redeemable at per on January 01/ 2020.
Debentures were redeemed on the due date. Record necessary journal entries in the books of the
company.

(13) fa<fra fqa=on @7 ¢ w87 (2)

Explain the limitations of financial analysis.

(14) 1 & TS AR |, IY FHIMT 31 A 2016 31R 2017 & oIy FHASY M fAaR0T TIR
PTG —

2
faaRoT 2016—17 (%.) 2015—(123 =)
TaTe™d & 3MTH 1800000 2500000
9 T AT DI ARTd 1000000 1200000
YT &0 80000 120000
IR—UATe & 12000 15000
=ikl 20000 40000
HOTGRI 10000 20000

From the following information, prepare a common size income statement for the year ended march 31,
2016 and march 31, 2017 :-

Particulars 2016-17 (Rs.) 2015-16 (Rs.)
Revenue from operations 1800000 2500000
Cost of goods sold 1000000 1200000
Operating expenses 80000 120000
Non-operating expenses 12000 15000
Depreiation 20000 40000
Wages 10000 20000
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(15) FrfoIRad o | i 3Mad U BT GRFAT BN — YT d IAFTH 400000 %.,

3T ¥Eld 55000 %., Wbl A ITFUTd 10 Uferd &— 2)

From the following information, calculate inventory turnover ratio-

Revenue from operations 400000/-

Average Inventory 55000/-

Gross Profit Ratio 10%

(16) FrAforRad fdarol & =TS T HREToT 31UTd YRS T HITSTY — 2)

PR P UL M 60000 /—, 15 U ETedIfeld FOT 1000000 / — AR HR X 40
yfcrerd

From the following details, calculate interest coverage ratio :-

Net Profit after tax Rs. 60000, 15% Long term debt Rs. 1000000 and Tax rate 40%

gvs — (|)
SCETION-(C)

(17) To WICH I & HB A&l A Had GG 11 T | 39 A&l BT Fold & AMF—FT W

AT ol U | ST — (3)
faamor T (%)
et T 01 31T 2016 BT 35000
et e fafrmr 35000
o Y faf =T w® o 4000
el [ [ & o srga™ 15000
e REPR 10000
Wl AT W Y 4000

Following is the information given in respect of certain items of a sports club. show these items in

the income and expenditure account and the balance sheet of the club :-

Particulars Amount Rs.

Sports fund as on 01-04-2016 35000

Sports fund Investments 35000
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Interest on sports fund 4000
Donations for sports fund Investment 15000
sports prizes awarded 10000
Expenses on sports events 4000

(18) fedrer, Af2d wd & Ua ®H H WEER T, SAGT o IS o uTd 2:241 & | BTAif 8 bl
gftrad M @ 9T @ ®Y H YAAH 10000 B TR < g B | AR A9 H BIg HH
T & 1 g8 @ral RAf2d gRT U1 fbaT ST | 31 AT, 2019 BT 40000 ¥ BT 9 U
3N | & & BT ARy @ e TR & | (3)

Hitesh, Rohit and Harsh are partners ina firm, their profit sharing ratio is 2:2:1. Harsh is guaranted an
amount of Rs. 10000 as share of profit, every year. Any deficiency on that account shall be met by

Rohit. The Profit for the year ending March 31 2019 was Rs. 40000. Prepare the profit and loss

Appropriation Account.

(19) fasT *iR Hora & # HEIER & 3R o™ 9 81 &7 fI9eH 3:2 & o/ gurd # &xd 21
IS BT A H 1/4 9T & AU AR § UI HRIF BT 01T oI 2| 35T 30000 6.
goll @ forg ok wnfa & fog mavass IR JAdws a1dT 81 B4 @) ©Ifd & Jeide
20000 % H BT | AT A OIS JIJUTd 2:2:1 B | IS &R HO1 U1 91T &1 =41 B
JMERT TR § | 3MIeTH Aol ufaficat o | (3)

Vijay and Sanjay are partners in a firm sharing profit and losses in the ratio of 3:2. They admitted

Ajay into partnership with 1/4 share in profits. Ajay brings in Rs. 30000 for capital and the requisite
amount of premium in cash. The goodwill of the firm is valued at Rs. 20000. The new profit sharing

ratio is 2:2:1. Vijay and Sanjay withdraw their share of goodwill. Give necessary journal entry.

(20) =1 SIFHRT ¥ @I U, BRI Yol 3T TgUTd AR ST FHAT AU IRB T
PIRTY — (3)
ge<i Yol 500000
EIERE RSSO 400000
yaTerq | a8 1000000
13 Uferd Forax 200000
ISR 280000
Compute Proprietary Ratio, Working Capital Turnover Ratio and Debt Equity ratio from the following
information:-
Rs.
Paid up Capital 500000
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Current Assets 400000
Revenue from operations 1000000
13% Debentures 200000
Current Liabilities 280000
gvs — (1)

SCETION-(D)
(21) =1 qoi1 U= &1 3R 9 &1 T, ST 32 & [GUId H A fIITd Rl 5—

01 YA 2017 DI 3 AR § B Tl UF (4)
MU i (%) gReHEr IR (%.)

fafaer oFeR 20000 TR b 3000
goil TGR 12000
3 30000 Tlh 15000
g 20000 50000 BeoN 10000
FI= Uq 7R 30000

70000 70000

3 fafsr @1 =1 oaf R 9 o1 IR § yder feur R -

01. 9§ &M H 1,/6 W & foIT 15000 . &1 Goil 3R 5000 ®. =AM & foly WfH &
ST |

02. I & g H 10 TR HHI T2 FI= Ud 7RT H 10 Ui &1 gig 83 |

03. BAMER B YAHeAIHT 9000 ¥ UR fhar 13|

04. Afdyr <RI W 5 ufera Gfey =0l &1 uraem fhar T iR 200 . fSTell &1 e
o & forT SueTer W& |

05. 1000 % ¥ & fafamT (R gom uar # =12 g a7 ) <8 @ # forae 2|

06. U MR T 100 & < & 3ruferRad fdar war | o= ufafteal &1 aifierg o |

Following in Balance sheet of A and B who share profit in the ratio of 3:2

Balance sheet of A and B on 01 April, 2017

Liabilites Amount (Rs.) Assets Amount (Rs.)
Sundry Creditors 20000 Cash in hand 3000
Capital Dabtors 12000
A 30000 Stock 15000
B 20000 50000 Furniture 10000
Plant & Machinary 30000
70000 70000

On that date Cis admitted into the partership on the following terms :-

01- Cis to bring in Rs 15000 as capital and Rs. 5000 as premium for goodwill for 1/6 share.
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02- The value of stock is reduced by 10% while plant and machinery is appreciated by 10%

03- Furniture is revalued at Rs. 9000

04- A provision for doubtful debts is to be created on sundry debtors at 5% and Rs 200 is to be
provided for an electricity bill.

05- Investment worth Rs. 1000 (Not mentioned in the balance sheet) is to be taken into account.

06- A creditor of Rs. 100 is not likely to claim his money and is to be written off record journal entries.

3rerdr
(OR)
INY 3R T Uh BH H 32 b 9 faWToiT H ASIeR 9| 98 01 31U 2017 BT 1,/5 9T &

fo faHar @1 &9 & yder <d 21 31 A/, 2017 BT MY iR IKT T Jold 99 59 UhR & —
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31 A/ 2017 BT MY 3R AT BT Tl IH
D IR () RINpI] R (&)

FaR 15000 9@ 9 997 35000

<7 fau= 10000 NEE] 45000

JENY &I Yol 80000 TIER 22000

<1 D1 Yol 35000 SATATST 2000 20000
Tih 35000
NEES) 5000

140000 140000
IE HEANT g3 [dh—

01. 9 3R 9a & Hea # 15000 ®. ¥ g g T

02. W5 & eI # 10000 © # I T T

03. ¥ &I AT BT TUFET 20000 F. B TS 7 |

04. faAeT 913 BH @1 Gt Goll & 1,/5 9N & SRI6R Yoil I ST |
gl WIdl AR ARl & Yoil Wid g8 |

Ashish and Datta were partners in a firm sharing profits in 3:2 ratio. on 01-04-2017 they admitted Vimal

for 1/5 share in the profits. The Balance sheet of Ashish and datta as on 31-03-2017-
Balance sheet of Ashish and Datta as on 31-03-2017

Liabilites Amount (Rs.) Assets Amount (Rs.)
Creditors 15000 Land & Building 35000
Bills Payable 10000 Plant 45000
Capital of Ashish 80000 Debtors 22000
Capital of Datta 35000 Provision 2000 20000

Stock 35000
Cash 5000
140000 140000

It was agreed that :-
01- The Value of Land and Building be increased by Rs. 15000/-
02- The value of plant be increased by 10000/-
03- Goodwill of the firm be valued at Rs. 20000/-
04- Vimal to bring in capital to the entent of 1/5 of the total capital of the new firm.

Prepare revaluation a/c and partner's capital A/c.

(22) Fwm fIfice 9 100 . U A & 15000 AT BT 10 . T e WA R i

foparr | S 391 TR < - (4)
SICEE RN 30 %.
3Mged WX 50 %. (WIATH AfEq)

T N 3ifaH A W) 30 .



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@Bsvys

[T 379l R SR TR g1l 3R BT - 1 I AR 150 3feAT UR 3fde AR ART A
& rfaRad o &1 | 399 37 &1 eR0T fhar AT QIR ' B 120 ®. UG B YOI ya
H g e far T | gl § [ gfaftedl @ |

Krishna Itd. issued 15000 shares of Rs. 100 each at a premium of Rs. 10 per share. payable as follows :-

On application Rs. 30
On allotment Rs. 50 (Including premium)
On First and final call Rs. 30

All the shares subscribed and the company reveived all the money due, with the exeception of the
allotment and call money on 150 shares. These shares were forfieted and reissued to Neha as fully paid
up share at an issue price of Rs. 120 each.

Give journal entries in the books of the company.

(23) TH. & . foifics & 9T 100 . Ufd F0UF & 30000, 11 UL o9x § S 10 Ffaerd

N R 39 UHR AT 8 — (4)
31 T4 2018 10000 FEUTIH

31 #d 2019 12000 YA

31 | 2020 I FOUH

A ST HAT Ufaftedr & |

M.K. Itd has outstanding 30000, 11% Debentures of Rs. 100 each redeemable at 10% premium as follows-

31 March 2018 10000 Debentures
31 March 2019 12000 Debentures
31 March 2020 Remaining Debentures

Give necessary journal entries

31T
(OR)
IS wiiRed faffics 9 100 ® U & 1000, 15 UKL ROMIAT Bl 10 ® D dlel FHT

Iy Y 25 % UfT 3 NAIH & gRT RKOMUAT &I URIAIGT & gRT Jitad fhar | sdd a1 &l
ST T S UHR B 500 KUTAT Bl A H F 50000 B BT SUAN $HRd gY Al T |
JMATdH AT Ufaftedr ST |

Arjun Plastic Itd redeemed 1000, 15% Debentures of Rs. 100 each by converting them into equity shares

of Rs. 10 each at a premium of Rs. 2.5 per share. The company redeemed the same kind of 500
Debentures by utilising Rs. 50000 out of profit.

Give the necessary journal entries.
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